

This agreement, made the day of February 2024, between Executive Engineer, R.W.D. Works Division, Birpur Supaul (On Behalf of Employer) (hereinafter called "the Employer)" of the one part and Sri Vijay Kumar Yadav, Kalyanpur, Bhaptiyahi, Supaul (hereinafter called "the Contractor") of the other part.

Whereas the Employer is desirous that the Contractor execute Reconstruction with five year maintenance work of Construction With Five Years Maintanance Revised work of PWD Path to vishnudev Goit Ke Ghar via Mallah Tola Ram Prasad Adhgarhiya tola Under Block-Saraigrah Bhaptiyahi Schemme-MMGSY (GEN) Year-2014-15 (Name and Identification of Contract) (hereinafter called "the Works") and there after undertake routine maintenance for 5 years, & the Employer has accepted the Bid by the Contractor for the execution and completion of such Works and the remedying of any defects and routine maintenance therein, at a contract price of Revised Amount Rs. 43654750.00-41672371.00=1982379.00 (Nineteen Lakh Eighty Two Thousand Three Hundred Seventy Nine) Only, below as 0.12% from BOQ Cost.

NOW THIS, AGREEMENT WITNESSETH as follows:

1. In this Agreement, works and expression shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.

2. In consideration of the payments to be made by the Employer to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the Employer to execute and complete the Works and remedy any defects therein in conformity in all aspects with the provisions of the Contract and undertaking routine maintenance for 5 years.

Executive Enginee

Rural Works Department

Work Division, Birpur

3. The Employer hereby covenants to pay the Contractor in consideration of the execution and completion of the Works and the remedying the defects wherein and undertaking routine maintenance for 5 years, the Contract Price or such other sum as may become payable under the provisions of the Contract at the times and in the manner prescribed by the Contract. 4. The following documents shall be deemed to form and be ready and construed as part of this Agreement, viz.: i) Letter of Acceptance; ii) Notice to proceed with the works; iii) Contractor's Bid; iv) Condition of Contract: General and Special v) Contract Data vi) Additional condition vii) Drawings viii) Bill of Quantities and ix) Any other document listed in the Contract Data as forming part of the contract. In witness where of the parties there to have caused this Agreement to be executed the day and year first before written. The Common Seal of _____ was hereunto affixed in the presence of: Signed, Sealed and Delivered by the said _____ in the presence of:

Binding Signature of Employer:

Binding Signature of Contractor

मुख्य अभियंता—2 का कार्यालय <u>ग्रामीण कार्य विभाग, पटना।</u> /पटना, दिनांक— 09.02.24

पत्रांक- 5-64 अ*3*e

ई0 श्रीप्रकाश, मुख्य अभियंता–2

सेवा में,

कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, वीरपुर।

विषयः शीर्ष MMGSY योजना अंतर्गत प्राप्त प्राक्कलन का पुनरीक्षित BOQ अनुमोदन के संबंध में। प्रसंग— कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, वीरपुर का पत्रांक 164 अनु0, दिनांक 02.02.2024

महाशय,

उपर्युक्त विषय के संबंध में कहना है कि कार्य प्रमंडल, विरपुर के अधीन शीर्ष MMGSY योजना अंतर्गत निम्नलिखित पथ का पुनरीक्षित BOQ अनुमोदन हेतु उपलब्ध कराया गया है। प्राप्त योजना का पुनरीक्षित BOQ अनुमोदनोपरांत एक प्रति में वापस किया जाता है, जिसकी विवरणी निम्नवत है:—

क्र0	पथ का नाम/पैकेज सं0	लम्बाई (कि0मी0 में)	अनुमोदित BOQ की राशि (रू० में)
1	2	3	4
1	PWD Path to Vidhnudev Goit ke Ghar via Mallah Tola Ram Prasad Adhgarhiya Tola	5.450	4,37,07,199

अनु0—यथोक्त।

मुख्य अभियंता-2

MMGSY (General) Revised Bill of Qunatities (BOQ)

Block-Saraigarh Bhaptiyahi, Dist-Supaul
Name of Road :- PWD Path to Vishnudev Goit Ke Ghar Via Mallah Tola

Ram Prasad Adhgarhiya Tola

Length :-5 450 Km

Length :-5.450 Km.		Otral	Rate	Amount
Sl.No Description of Items	Unit	Qty	Kate	Amount
SCHEDULE A				
Providing & Fixing of working benchmark pillars 2	5 7			
nos. per km & 6 Nos of refrence pillars required for 1	()			
1 km as per drawings		F 00	4455.93	22279.65
Banchmark pillars 01 nos per km	No	5.00	2073.56	45618.32
Refrence pillar 04 nos per km	No	22.00	20/3.30	43010.32
Clearing and Grubbing Road Land (By manual				
means) inlcuding uprooting wild vegetation, grass				
bushes, shrubs, saplings and trees of girth upto				
300 mm, removals fo stumps of such trees cut				
earlier & disposal of unserviceable materails &				
stacking of	1			
serviceable materials to be sued or auctioned upto	1			
a lead of 1000 m including removal and disposal of	.			68278.79
2 top organic soil not	cum	1.908	35785.53	08278.73
to a situatik budraulic				
Excavation for roadwork in soil with hydraulic				
excavator of 0.9 cum bucket capacity inlouding				
cutting and loading in tippers trimming bottom and	-			
side slopes, in accordance with requirements of				
lines,				
grades and cross-sections, and transporting to the	cum	138.210	67.86	9378.93
3 embankment location with a lift upto 1.5 m				
Construciton of embankment with materal obtained				
from brorrow pits with a lift upto 1.5 m, transportig to the				
site spreading, grading to required slope and				
compacting to meet requirement to Tables 300.1				
and 300.2 with a lead upto 1000 m & 100 m as per				
4 Technical Specification cluase 301.5	cum	3 2 21.840	166.05	534986.53
For 1000 m lead				
Construction of Embankment with materail obtained				2
from borrow pits with a lift upto 1.5m				
from borrow pits with a fire upto 1.5m				
transporting to the site spreadig, garding to required slope and compacting to meet requirement				
of Tables 300.1 and 300.2 with a lead upto 100	cum	7517.630	131.14	1008414.87
5 of Tables 300.1 and 300.2 with a lead up to 100	1212	14	g	d Alle

Executive Engineer Rural Works Department Work Division, Birpur

Chief Engineer 2
Rural Works Department

No.	Earthwork in excavation for structures as per				31
	drawing and technical specifications clause 305.1				
	including setting out, construction of shoring and	į.			
	bracing, removal of stumps and other deleterious		246.660		50004.00
19	material and disposal upto a lead of 50 m dressing		316.660	186.08	58924.09
	Laying (First class) bedding on well compacted sand,				
	moorum or approved granular materail as per clause				
20	1105 (ii) Type B (First Class) Bedding		23.490	392.29	9214.89
20	Providing concrete for plain/reinforced concrete in		23.430	332.23	
	open foundation complete as per drawing and				
	technical specifications clause 802, 1202 & 1203 PCC				
21	M-15		17.8 5 0	6991.76	125012.6
	Brick masonry work in cement mortar in foundation		27.000		
	complete excluding pointing and plastering as per				
	drawing and technical specifications clauses 600,		173.08		
22	1202 & 1203	ĺ	- 123.080	6234.98	1079150.3
	Providing and laying reinforced cement concrete				
	pipe NP3 for culverts on first class bedding of				
	granular materail in single row including fixing collar		İ		
	with cement mortar 1:2 but excluding excavation,	1			
	protection works, backfilling concrete and masonry				
	600 mm Dia Pipe	RM	7.500	1345.52	10091.4
	1000 MM Dia pipe	RM	45.000	4223.69	190066.0
	Plaster with cment mortar (1:4) 15 mm thick on				
	brickwork in substructure as per technical				40404.7
24	specification clauses 613.4 & 1204	sqm	220.120	224.84	49491.7
	Providing and laying pitching on slopes with				
	stone/Boulder laid over prepared filter media as per				
25	drawing and technical spefication clause 1302		14.180	4361.80	61850.3
25	drawing and technical spencation clause 1902				
	Providing and laying filter material underneath				
	pitiching in slopes complete as per drawinin and				
26	tachnical specifiations clause 1302		5.170	392.29	2028.1
	Providing and laying boulder apron for bed				
- 1	protection with stne boulder of minium size and				
- 1	weight as per Table 1300.1 no fragment weighing				
	less than 25 kg laid dry complete as per drawing and				45.44-
27	technical specification cluase		28.260	4405.42	124497.1
	Total Constructon of Cost				41020836.13
	Labour Cess 1 %				
	GST 18%				
	Seigniorage Fee				41020026 44
	Total Construction of cost				41020836.12
	Maintainance for 1st Year				187831.24 252310.34
	Maintainance for 2nd Year				587393.57
\neg	Maintainance for 3rd Year		4		30/393.5/

July 74

Executive Engineer
Rural Works Department
Work Division, Birpur

Chief Engineer 2
Rural Works Department

Maintainance for 4th Year	766888.55
Maintainance for 5th Year	
Total Maintainance of Cost	891940.01
Labour Cess 1 %	2686363.71
GST 18%	
Seigniorage Fee	
Total Construction of cost	
Total Cost of Project	42707400 02
Less as per aggrement 0.12%	43707199.83
 Net Total BOQ	-0.525 Lakh
 HELIOLA	436.546 Lakh

Say = 743707199 200

Executive Engineer Rural Works Department Work Divisian, Birpur

ATM 012124 = 41020836200 = 2686363:200 5 yrs Maintenance Cost Z

1019 - 7 433-07199200

Raised BOB approved for amount Rs. 43707199200 (Four Crove Thirty Seven Cakh Seven Thousand one Hundred Hinety Mine only).

> Chief Engineer-2 Rural Works Department Patna